2.
7 (X)
X S.D
10 76.10 5.21
10 76.20 3.32
t-test - .05
05118 = 2.10

*

*x

JX.05 (0519 =1.83)
JX.05 (05118 =1.73)

(8.D.)
(t-test)

10 107.90 9.27
10 89.40 9.13

4.49**

t-test

12.23*
5.21*
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7
(t-test)fl
1.
.05
2.
.05
3.
.05
4.
.05
.05
3
(comprehensibility)
(manageability) (meaningfulness)
(t-test)



Tot

*P<(05 (BB =1.83)

(t-test)

26.10

28.20

21.90

76.20

S.D.
4.43

5.51

4.09

3.32

X S.D
27.40 4.83
32.20 6.28
29.80 3.42
89.40 9.13

(t-test)

t-test

3.28*

1.75

5.07*

5.21*

.051
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Total

*P<(05 (BB =1.83)

(t-test)

10

X
23.70

28.90

23.50

76.10

S.D.
4.87

2.37

4.92

5.21

7 S.D.
36.20 6.33

39.80 2.69

31.90 4.90

107.90 9.27

t-test

7.49*

9.18*

6.93*

12.23*

.05

( -test)
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10
3
X S.D.
1. 36.20 6.33
2. 39.80 2.69
3. 31.90 4.90
Total 107.90 9.27

pc.05 ((6"18 = 1*73)
10

(t-test)
.05 2

27.40

32.20

29.80

89.40

S.D.
4.83

6.28

3.42

9.13

t-test

3.49*

3.51*

1.11

4.49*%
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